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INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on beth sides of the Answer Sheet)
1. Withio 10 minutes of the issue of the Question Booldet, check the Question Booldlet ta ensure that

it conlains all the pages in correct sequence and that no page/question is missing, In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators irnmediately to obtain a

fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hell except the Admit Card
unthout its enveiope.

3. A separate Answer Sheet is given. & should not be folded or mutilated. A second Answer Sheet shail
not be provided. Only the Answer Sheet wiil be evaluated.

4, Write your Roii Number and Serial Number of the Answer Sheet by pen in the space provided above.

%, On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the vircles at the bottom. Also, wherever applicable, write the

Question Booklet Number and the Bet Number in mpproptiate places.

6. No cverwriting is allowed in the entries of Roll No,, Question Bocoklet No, and Set No. (if any) an
OMR sheet and also Rall No. and OMR Sheet No. on the Question Booldet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Fach guestion in this Booklet is followed by four alternative angwers. Far‘mcl} question, you are to
record the carrect option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page

of the Answer Sheet.

9. For each question, darken enly one circle on the Angwer Sheet. [f you darken more than one circle
or darken a circle partially, the anawer will be treated as incorrect.

10. Note that the answer once fiiled in ink cannct be changed, 1f you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such guestion will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Depasit only the OMR Answer Sheet at the end of the Test,

13. You are nol permitted to leave the Examination Hall until the end of the Test.

14, If a candidate attempts 1o use any form of unfair means, he /she shall be liable to such punishment
as the University may determine and impose on him/her.
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No. of Questions/weit W} vheur : 180

Time /0% ; 2 Hours/9%¢ . - Foll Marks/quh® : 450

Wote : (1) thptmmmyquuﬂmmmmmwmmmmuamm One
mark will be deducted for #ich incorrect answer, Zﬁrﬂmkv-'ﬂlbea.wnrdﬂd
for each unattempted question.

aftrefie 7 W T S W TS = R WE 3 FF oW A W T S %
mHmmmlﬁzﬂmmnm:ﬁﬂm

(2) Emﬁmmwmmmhappmﬂnmmthumﬂm
answer, choose the cldacst one,

n&qwﬂm#ﬁ'ﬂmmﬂﬂﬁﬁﬂmﬁ ﬁmwmil

1. Carvaka believes that o
{1} there is no consciousness
{2) consclousness is a product of matter
{3} consciousness is the reality
(4) consciousness is an attritmate of sotll

s AT - |
) IR R R wETRY
(3) Jen & W 8 (@) e wem W oo R

(148) 1. - (P.T.0.
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2. According to the Carvaka, inference is not a means of valid knowledge because
(1) inference contradicts perception
(2) inference proves the existence of self
{3) existence proves rebirth
(4] relation of Vyapti cannot be conclusively established
wIi% % IR AR 39 W A 2, wife
(1) A WO W TE O ¢
(2) 3w s A frg w R

(3) IR g g v
(@ =afs = T fveoem w9 & s T8 8 T

3. The Carvaka Philosophy is called heterodox because

f1) it rejects God - (2) it rejects soul

(3) it rejects the Vedas (4) it rejects heaven and hell
sris it s wm e X, wifE 5

(1) fva # rfiwn = ¢ 2) Wwen + reew w=wa ¥

(3) 3T H IfiFR FTAO (4) = T T W FEER T

4. Which one of the foliowing are calied allied systems?
(1} Carvaka and Jainism (2) Jainism and Buddhism

(3) Samkhya and Vedanta (4) Nyaya and Vaisesika

(148) ' 2
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frafefas § @ ¥ ey w2 a #?
(1) =mafs oa Jed () Sl wem shgud
(3) @M T Y 4) = T A

B. Which one of the following is accepted by Buddhism?

(1] No soul, no Karma (2) No soul, no rebirth

(3] No soul, no memory (4) No soul but rebirth

Wz qir e & 3 fed e w42

(1) ¥ Fowe, 3 &5 (2) 7 e, 3 TN

@ 7 s, @ Wl ' 4) sren T feg gk
6. Which one of the faliawing is not accepted by Buddhism?

(1) All is changing " (2) All ia one

(3} All is suffering (4) All is caused

iz ofx Praforfim # @ B = gwmr?

(1) @ ¥9 Th=twfa 8 (2) T9 FO UF &

(3) v ¥ pag @ © {4) vA F® I9W R

2. Which one of the following schools of Buddhism believes that object is known
inferentially? ‘
(1) Seutrantika (2] Vaibhasika (3) Vijnanavada (4) Sunyavada
dz = = Pefe § ¥ 39 wwen T FAa § & el @ I9 a8 d A7
(1) difies 2) dwiew  {3) Feeem (4} TR

(148) 3 (P.T.0.,)
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8. The view that the internal idea appears as object is held by
(1} Vaibhesika (2) Sautrantika (3) Vijnanavada (4} Sunyavada
sohw Pam o & e § wite Ao 8—aw va feww ¥7
(1) ¥R (2) i (3) fayrae (@ ¥

9. The view thaf Nirvana is of the nature of absence is held by
{1] Sunyavada @) Vijnanavada (3] Vaibhasika {4) Sautrantika
fiaim s w9 2—%W T4 ® A f |
(1) Fm - () P (3] denfie (4) wrfers

10. The concept of Prajnaparamita is asacciated with
(3) Vijnanavada (2) Sunyavada (3] Sautrantika (4] Vaibhasika
wenken 6t samen feed aafaw 47

(1) Taymarg (2) AT (3) ehrmifien (4] hrite

11. The Jaina Philosophy may be called

(1} realism and deism : (2] realism and spiritualism
[3) realism and monism (4] realism and materialism
$7 o % W = w3
m'mmmﬁm {2) TEEAR T IR
(3) FEgIAR T THATEAR (4) TR T sy

(148) 4
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13. Which one of the following is opposed by the Jaina Anekantavada?
(1) The Buddhist view of reatity
(2} The Vedantika view of reality
(3) Both the Buddhiet ang the Vedantika views of reality
(4] None of the above
A Aiwrae il ¥ @ femw fady s #7
(1) o wh Ag 7 ™
(2] ¥ T T o W
(3 WY T g w do o e
(4) To0% § & Al W

iﬂ. According to Jainism, reality has many attributes but

{1} onky some of them are real [2) all of them are real

(3) none of them are real |4) only one of them is real
¥ & smEm W ¥ aAw o F, By

() FAadma g § (2] I & g §
SRR AT L T (@) T ¥ Yt o 8

14. The Jiva according to Jainism is
(1} of the size of body {2) atomic

(3} all pervasive (4} unnhi_lnging-

(148) : 5 {P.T.0.)
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¥ o % wgem AT b
(1) YR * IER qTen (2) TN ¥
(3 fyq wv (4] wiEdEe

15. The Jiva according to Jainism

(1) is partless (2] has infinite parts

(3] 1s one (4] i= cunﬁnuunesa as such
¥ W ¥ SgeR WA

(1) Fresas 2 (2) ST a8 gw d

(3 st 4) daw A

16. The Jaina Philosophy advocates

{1} pluraliam (2) idealism (3} - akepticiam [4) dogmatism
37 o wheiE e ¢ |
{l) ST (2) WeagaR (3) Tigam (4) W

17. According to Jainism, the Bondage of the Jiva is

(1) unreal (2) imaginary
. {3) Baih real and unreal (4} real
A TR ¥ AR S W WG R
(1) et | (2] FeiE
(3) TraRE T wEARAEE qE (4} SwalaF
(148] | 6
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18. Which one of the following is not a feature of Jainism?

(1) Realism (2) Plurelism ~ [3) Relativism  (4) Absolutism
fraffes # & ¥ ¥ Wi = weor Wl 22

(1) = 2) R (3) wR¥m 4) St

19, Which one of the following believea that the world is like a dream?

{1} Carvaka (2) Advaita Vedanta
{3) Yogacara Vijnanavada (4] Madhyamika Sunyavaeda
fafoe § & @ T 4 R w17

(1) =R (2] wiw ¥ (3) domem P (4} Tl R

20. Which one of the following believes that God is only the efficient cause of the world?

(1) Mimamsa (2) Visistadvaita Vedanta
(3} Advaita Vedanta (4) Nyaya

P 4 @ 99 T { T e W W e Afm oo 37

(1} e (2) fifiedn 37 (3) ew T (4) =

a1, The first evolute of the Samkhya theory of creation is

(1) Buddhi (2] Ego (3) Mind {4) Sense-organs
wiwa & gt Regra W qger Rew ]
) ofe (2 T (3) W (4) ¥l
(148) 7 (P.T.O.}
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22. Purusa according to the Samkhya is
(1) cause of creation
(2) effect of creation
(3] Both rause and effect of creation
(4] Neithier cause nar effect of création

WE % sigER gm ¥

(1 g = wwr - (2) ot w o

ialqﬁmmmmiﬂ | maq&ﬁm.nﬁ
23, The objective warld according to the Samkhya I8~

(1) distortion of Prakriti 2} modification of Prakrit

(3) d:ﬂ'm'mtfmmﬁalmu | (4} independent of Prakriti

aien % SgE T A
() vpRrwifend () R oW T (3) wER R P @) W D v
24. Mmeufthufoﬂomgisﬂufutumof&mﬁmamdm;mthewa

Philosophy?
(1) Pleasure {(2) Heavinesa (3) Activity (4] Pain
mﬁﬂtfmm#ﬁmmﬂ_mm!? ‘
m R @ e @ B @) g
35. Which ane of the following cannot be attributed to th.e'BémklmPuruaa? '

(1) Knm | ‘ {2) Enjoyer .
(3) Beyond qualities (4} Ground of consciousness

(148) 8
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frffer 3 ¥ el aiow oo & am 7@ Sy o wEATY
{ty s (2) Wre (3} o (4) wm W THY

26. The M& Purusa is

(1) knower only (2) enjoyer only

~ -(3) knower and enjoyer (4) knower, enjoyer and agent
o R
(1) %% F= - [2) = W

@) Ymwmww @) W, Wi ad

' 27. The piece of Sandatwood is good sm&lling—ﬁtis kmowledge according to the Nyaya is
detained through

" {1] perception ‘ - (2) Jnanalaksana perception
(3) Samanyalaksana perception (4] inference
W g B—a T ¥ SgER 3 IR RS w7
(1) wead (2) WHREY TR (3] SeET VA (4) SR

" 28. . According to the Nyaya, knowledge is
(1) intrinsically valid

(2) mniﬁsicaﬂy mvahd

(3] extrinsically invalid |

(4) intrinsically valid and intrinsically invalid

{148) 9 P.T.0.)
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43. Thepwpoundero{ﬁichﬁmmmsyswmismppmdtoba

(1] Kumarila (2) Sabara (3] Jaimini ¢4) Prabhakars,
frmaR s AR wA § |
(1) Ffw (2) TR (3] If (4) WP

44, Tbc aubject-matter of the Vedas according to the Mimamsg is

(1) action (2} knowledge (3} Brahman (4] devotion
firen & WgER I W odwm ¥
{1 W {2) W (3 T (4) Wi
45. Mimamsa believes in
{1} Parateh Prarmana | {2y Svatah Pramana
(3] Svatah Apramana < 14) Svatah Apramana, Paratah Pramana
Himren e A *
(1) 9G: JHor (2)
(3) W W (4) W WA, W WHO

46. The concept of Triputipratyaksa is accepted by

(1) Kumarila (2) Murari
(3] Both Kumarila and Murari (4} Prabhakara
fagdiveam #t waumon e w1 ¥ |
(1] Foufta D I
@ a7 guh 3 4} TR
- {148} ' 14
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47. Apurva according to the Mimamsa is

(1) substance (2] quality

{3) comscious principle (4] a gquality of God

At i & oTgER oE #

{1} == 7= (2) o& ™ (3) el T @ Fewqm

48. Which one of the following is not counted in the Prasthanatrayi of the Vedanta?

(1) Rigveda (2] Brahma Sutras

(3) Upanishads (4) Gita

ffafer 1 & ¥R dgpn % werEd 7 T B ey

1) W (2) www @ whw @)
49. The author of Serirakabhasya s |

(1} Ramananda (2} Remanuja (3) Sambkara 4} Madhva

e & =i &

(1) oA (@) s (3) W (4 T

80. Ignorance accerding to Samkara is
(1) real | (2 unreal -
{3) Both real and unreal (4] Neither real nor unreal
T & IER 3WH ¥
{1) 91 (2) oFq
3) w4, @ e I (4) 79, ¥ ¥R

(148 | 15 (R.T.0.)

L]
gcollegedunlae
India’s largest Student Review Platform

—



14P /229 /4

Bl. According to Samkara, ignorance is removed by
(1} Brahman | (2) knowledge of Brahman
(3] devotion to Brahman {4) disinterested action
TR ¥ HPER WE [ wr R I
(1) ¥ TRT. (2 YE-YR T . @) wa-afis Fw 4 fPrem wf g

83. According to Samkaracarya, activity belongs to

{1). body " (2] conscicusness ‘(3] God . (4) Ego
vweed ¥ Fgan e ot & |
(1] ®R ¥ (2) " o & (8) ¥r i (4} amem #

83. Knowledge according te Samkaracarya is

(1) mental activity (2} bodily activity

(3) subject-dependent (4) object-dependent

ww ¥ SHEn TR 4 | |

(1) =l P () mlfs Bmr (3] e ) e

54. Which one of the following i not subscribed to by Bamkaracarya?
(1) Sadyshmukti {2) Videhamukti (3] Kramamukti {4) Jivanamukti
Al ¥ 3 Rl viwowd o oz | |
(1) woghs 2] Pwhn 3) gl (@) remfs

(148) | 16 -

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/229/4

58. Locus of Maya according to Samkaracarya is

{1) ignorance (2] world (3) ego [4) Brahman
R ¥ OFUR AR 6 T R
(1} oA (2) ¥ (3} SmEN (4 =

§6. The world according to Ramanuja is

(1) real | (2) unreal

(3) Both real and unreal (4) Neither real nor unreal
RIS % R Wi, &

o = (2) ¥

(3) wq W I I (4 3 ¥, T

87. According to Ramanuja, Cit is related to Acit because of

1) God’s will (2) Human action

(3} God’e will and human action (4) their natural relation
T % ageEr R W afim @ wEey B d

(1) = 6 =1 F T (2) W9 F T F W

(3) B = AW F W F W (4] T WWIRE BT ¥ HR

‘88. The relation that obtaina between Cit and God is called by Ramanuja
(1) Samyoga (2) Aprithaksiddhi

(3) Samavaya (4) Difference

(148) | 17 {P.T.0.)
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60,

gl1.

(148) |

fog mor v & A9 ¥ warw B TR A £

(1) wim 2) IR @)
The author of Life Divine is -

{1} Sri Aurobindo (2)
(3} Maharshi Dayananda (4)
s o (Rwr o) % S A

(1) # anfi (2) TrepwR, 3)
Sri Aurobindo’s concept of evolution is 5
() mechanical = {2} physical (3)
AN sfg A Rerm 6 ammaron ¥

(1) a6 2 hfim 3)
The world according to Sri Aurobindo is
(1) Neither real nor unreal (2)
(3} unreal [4)
At wie % sFem wy ¥

(1] 7%, 7 9w A2)
(3) (%)

WA 4 W2
Radhekrishnan

Gandhi

Wil e (4 widt
purposive (4] natural
I 4) sfi
" Both real and unreal

real |

W T 2wy o

L6

Which one of the following is lmown as the 'bridge between India and the West’?

(1} Viveksnanda (2)
[3) Gandhi (4
18

Radhalriat :

Tagore
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frafafem & & 9 o o offm § W9 3 F W F I T 7
(1) Rewwes (2) TUTFwR (3) witdh (4) ¥

63, Which one of the following is superior knowledge according to Vivekananda?

[I} Perceptual knowledge (2} bﬁertnti.all knowledge

[3) Intuitive knowledge (4) Knowledge by comparison
fire & onpor Peftfea 3 & w9 S A7

{1) WS J1A (21_ sl Fm

(3) wmiw IA 4} T B WIF IH

64. ‘Back to the Vedas’ is associated with

{1} Vivekananda K (2] Gandhi

{3) Radhakrishnan (4| Dayananda

‘Wi eix ae T R eEg b

(1) FrmeT (2) wited (3} TR, {4} TR

65, According to Vivekananda, God is
{Ii Both personal and impersonal (2] personal

(3} impersonal . (4} Neither personal nor impcrsoné]
R % agen fw b
(1) dfre oo FRfes o (2] AafrE
{a)ﬁﬁwﬁﬁfﬂi (4) 1 JafFE, 7 Fdafes
(148) ' 19 P.T.0.)
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66. Which ene of the following is true of Gandhi?

(1) God is superior to truth {2} Truth is superior to Ahimsa
'13;. Ahimsa is superior to truth (4] Truth is God |
mtﬁimﬁﬂm@!?

(1) $vm v @ Az} (2 #w e A A

(3) iﬂtnrinq'a-hl'B 4 e fem R

7. Which one of the following is associated with the elimination of Satipratha?

(1) Gandhi - ' 2) Raja Ram Mohan'Ray
(3) Sd Aurobindo {4) Tagore

ffafen § 3 W wdwm ¥ S=em ¥ wag A7

(1) e . (2 TR TR Oy

13 R = (4) &

68, According to Plato, idéas reside in

(1] man’s mind (2) CGod’s mind

(3) their éwn world | {4) mwurld

@R % FHR TR R |

(1} wgea ¥ W A | {2) T % m &

(3) ot = & g T | (4) Frufis s ¥
(148) - | 20
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69. According to Plato

(1) there is one universal
{2] there are many universals
(3] universal is derived from particulars
(4] universal is changing

@ F A
(1] sm o ¥ (2] s aRw &
(3) wen fadnl & e mn % {4) @R A B

70. “You cannot enter twice into the same river.” This view is held by

(1} Zeno (2} Heraclitus (3) Socrates (4] Plato
Yy g 3E @ 8§ TR ol R e v e R
(1) (2) TR (3) TR (4) R
71. “Reality is number.” This view is held by
{1) Pythagoras (2] Thales (3) Plato (4) Aristotle
“m[mtl“uaqﬂﬁmm%? |
11) TEUVIRE (2) ¥l {3) @A - (4) T
72, “Knowledge is virtue.” This view is held by
{1} Plato (2] Aristotle (3] Socrates 14) Plotinus
‘o w217 9% Wa R 27
(1) =& (2) ¥ (3) = (4) e
| (P.T.0.)

(148) | 21
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T4,

76.

(148)

According to Aristotle, the real is

(1) particular " . (2] universal
(3] indeterminate 3 (4] concrete universal
3 & angan A}

(1) W (2) wEr 3) whFEm e () T wwe
According to Aristotle, Ged is _

(1) pure potentiality

(2) pure actuality

(3) Both pure potentiality and pure actuadity
(4} Heithgr pure potentiality nor pure actuality

R & vty ‘
(1} 3% [2) TR e
| {3;ﬁmmmmﬁﬂ1iﬁ @) T Y@ TR, T Y IR
Aristotle is
(1} idealist {2] subjective idealist
(8} mohist . (4] realist
e |
(1} e (2) s Ve (3) AR (4) e
The concept of ‘unmoved mover’ in Aristotle’s Philosophy stands Tor
(1) God (2 matter (3} ideas | . (4) mind
22
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e & T o ‘mm‘ﬁﬁmm%
(1) =t =+ {2} B &l (3] Yo gt & {4} T J

77. Which one of the following believes that reality is everchanging?

(1) Plato (2} Heraclitus [3) Aristotle (4] Thales
frafeffya & 4 919 v ® B m Prem fedoha &2 J
(1] == (2) oA (3} 3] (4 AT

78. “Man is the measure of all things.” This view is held by

(1] Socrates (2] Plato {3) Aristotle (4] Prolagoras
‘g Lt el w1 o ¥ w8 @ R b7
(1] gFm (2] = 13) WH, (4] W&

79. *] think therefors ! am.” This according to Descartes is
(1] deductive truth
(@] inductive truth
{3] self-evident truth
(4] Both deductive and inductive truth
“# drem § R & €1 7w 3T ¥ agen
(1) Fes & (2] ST e
{3} wafg & (4] PSS T A

(148) - 23 (P.T.0.}
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80. The world according to Descartes’ is real because

(1) it is perosived (9] it is the cause of perception
(3} its esistence is self-evident (4) it is God's creation
IW * ﬂmmﬂﬁ,‘ ik |
mmwﬁmt (2) 7% WG T TR }
& 6 g it ¥ (4) 78 frae & = &
81. Which one of the following advocates Interactionism to solve the relation of mind-body
problem?- ,
(1] Descartes . (2} Spincza (3] Leibnitz (4] Malebranche
:a-mmﬁmtmtm‘ﬁnﬁmﬂamﬂmﬁcmmmﬂm
P _
(1) ¥t : (2) feFrn (3w (4) e
§2. Which one of the following cannot be associdted with Deacartes?
(1) Dualism (2) Theism (3] Pantheiem (4] Interactionism
fraffter 8 4 feR 3w & o A atw o @Em e
(1) e (@) e (@) v (4] FFmRRETE

83, Which one of the following cannot be attributed to Descartes?

{1} Ged ¢reates everyvthing
- {2) God creates a thing which ia good
(3} A thing is good because God creates it

(4] God is not immanent in the vworld

(148 7 . 24
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frafifee € o fot twd & wry Tl St ¢ w7
(1) o T T8 = @i}

(2) fvR St T B IOW W@ R w2}

(3) % ¥wg g } wifs @ -t

(4) v s § ovaealy a8 ¥

84, The essence of mimkl according to Descartes is

(1} thought (2} activity

{3) extension (4] thought and activity

ol % oEUR WA W wE R

{1y (2) P (3) famm (4) f=m wr fFn

85. God according to Spinoza is
(1} immanent in the world (2) transcendent to the world

(3) Both immanent and transcendent  (4) object of worship

(1) P | (2) Tirrmin

(3) Preres wat frvard S (@) = W
B6. Which one of the following is true according to Spincza?

{1} Thought and extension are independent substances |

{2) They are the only two known attributes of God

{3) They are the only attributes of God

[4) They influence each other
25 (P.T.0.)
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87.

aS.

Prafeies & @ @ v & sgem A 47 -
(1) frew o frea iy o 8 2) A b & 8
@ At E I mm Y | (4 4 TH-mR W el = &

Spinoza solves the problem of mind-body relation through

(1) occasionslism (2 paralielism

(3) interactionism | (4} pre-established harmony
fdn wA-wi TR THEn W T W

m wEART (2} W ¢

(3] ﬁmmﬂlm :m {4y H-waitm wRiEE TR

Spinoza believes that

(1] God creates the world

2} Gudmapurpnnuhmaﬂngthcwnﬁd
(3] God is an object of worship

) God is the ground of the world

ftrivor maw & 5
{1y Fen g H v § (2) wr e ¥ fEm ™ e
3) T W Ry (4] $wR W W Fm ¥
. Spinoza can be said to be a | | |
(1) monist . (2} dualist |
@) pluralist (4 subjective idealist
26
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farmn = @ . G} |
(1) T (2 YA (3) FFTEd) (4] e TR
90. Spincza's system is
(1) indeterministic (2] deterministic
(3) utilitarian (4) pragmatic
- fosrar w gia B |
(1) it (2 FrfvErd (3) IR FremaErd (4) e
91, The mark of substanee according to Leibnitz is
(1) materiality (2) independence {3) divisibility j4) force
arRTa ¥ A T W wew & |
(1) e (2) =& (3) T @) ofs

©4. Which one of the following is not true according to Leibnitz?
(1] Monads do not influence each other
(2)- Monads are windowless
{3]. Monads are related
(4) Monads have no relation

mEfiee % aman frtiia § & 9 w0 T R0
(1) ffrg w-gat ® yRa T w0
(@) fagfa Teied €

(3) iy, v ¥
(4) Fefrgali & o T8 2

| | | P.T.O.
(148) | 27 { J
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93. According to Leibnitz |
(1] there is natural harmony in monads
(2] there is no harmony in monads
‘(31 Gaﬂlmﬂlehmnymfwa]l
" (4) qu.mtathehamwﬁ-nmﬁme;oﬁme
wR W AN |
(1) fghepit & wmnfes aeew §
(2 fgfwpit § i o &
(3] e B & Ry aniwe vt W= dw g
(4) T wE-w W A aaRn s o d

94. Which one of the fallowing cannot be attributed to Leibnits?
(1) Qualitative difference in monads
(2) Quanﬁtntive dﬁmnc in monads -
(3) Flurality of monads

{4) Monads as centres of conacionsness

freafirirs 3 4 TR ETEPE % e A wtp W wen?

(1} Regfegail & e 9= (21 Forgfrgalt & e sy
(3) Tefrzail B wem 4) fefg dam & dR E W U
98. Which one of f.hc It‘nl.lowing believes that all knowledge in innate?
(1) Leibnitz {2} Locke {3) Kant (4} Hume
(148) - 28
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fifeRem 2 W T & 6 W Y S g 47 |
(1) et 2) I @ @ W

96. Which one of the following refutes the theory of innate ideas?

{8} Descartes {2) Locke (3) Berkeley (4} Kant
frfafen ¥ & W S wad & g W W w7
(1) Ford {2) wE @ S (4] e

97. Which one of the following is known as ‘God intoxicated philosopher’?

(1) Kant (2) Plato (3] Leibnitz (4] Spinoza
fefefar § 3 &7 ‘it ot & w3 I oen §7
(1) e (2) A (3] amEtA (4) e

08 Which cne of the following offers occasionalism as a solution to the problem of
mind-body relation?

(1) Descartes {2) Spinoza (3] Creulinx (4] Leibnitz

fofafm # & o wi-vit waey ® wrm f e F e sReEr W e SeE &
27 |
(1) T (2 T (3] = (4) wmEhE
99. *Substance is something [ know not what.” This view is held by
(1) Locke (2} Berkeley . (3] Descartes {4 Hume“
‘o wiE T P & 3 wwe o b aw o few 82
(1} = 2) (@) 3N (4 T
(P.T.0.j

(148) 29
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100. According to Locke the secondary qualitiea are

(1) unreal (2) subject-dependent
(3] object-dependent . 4) imagimary

ats & sigaR I §

(1) sk 2) yrw sk (3) v w fnk A}

101. Wchomufﬂmfnﬂawhgis&ninatmc&ﬁﬁﬁmdﬁadmammﬂhgtuhﬁ?
(1) Idea of soul  {2) Idea of beauty {3) Idea of God (4] Idea of matter
afe ¥ sgan Frakiae ¥ & o fife Tew (Ge) = o 47

{1} s ysm (2 dd w3 R W WRE (4] :n-ﬂm

102. Which one of the following is not a certain knowledge according to Locke?

(L} A triangle has three angles (2] Triangle is not circular

(3] Actual triangle exists | (4] A triangle has three arms

wi% & wgen ffufn & & * v am w42

(1) o S % fir o a § (2) Frgw dremeR T B

(3] Trafes By o wer gl R (4) T B ¥ #x gt B &
103, According to Locke God is

(1) passive (2) Both passive and active

[3) active . (4) Neither passive nor active

A% % agex f }

(1) ffes : -{2) FiSre o vk 9

{3) wfg {9 3 Ak, 3 g

(148) | . %0
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104,

1085.

-~ 106.

107.

- (148}

Mind according to Locke is
(1) Bath active and passive
(3) passive only

wis & wgan ¥

(1) wfre wen BfE 3R

(@) Fue fafeka

According to Locke, we know

(1) the essence of God

(3) that God's existence is uncertam
wte & sgEn o8 W § 76

(1} = = awrw w0

(3} few i va wffea b

Berkeley is
(I} an atheist (2) an idealist
wa ¥

(1) PrieEm (2) WeauEd)

149722974

(2] active only

(4] Neither active nor passive

(2) a9 afFa
(4] 7 "Fa, 7 RSk

(2) that God's idea ia innate
(4) that God exists

(2) e W v WA R
(4) ¥ # w

(3] & materialist (4] a rationalist

(3) srioerardt (4] yiEE=

Which one of the following is not true according to Berkeley?

(1) There is some cause of ideas

(3} Spirit is active

{2) That cause ia spirit

(4] We can perceive epirit

(P.1.0.)
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W % ongen Prefif 3§ 2 A7 a8 = ¥e |
(1) sl & W Frw g R (2) ¢ = S &
{ajmiﬂwt " , | (4 ™ N W ween W ae §

108. According to Berkeley, the ideq of sleep and the idea of refrealument are

(1} naturally connected (2) connected by God
(3] logically connected {4} not connected at all
W & omgEm Mk % W w A vy

(1) R wes () e g Pl e
(3) mibw s R - 4 o wwe Aty

109. According to Hume
(1} impressions are copies of ideas
(2] impressicns and ideas are independent
' (3) idean are copies of impressions
14) all our imawledge arises from ideas
W ¥ e
(1) SwR Tl 8 wfafat §
{2) WP MaT Wewg ey §
(@) T w4 SRRt §
(4) W w0 I Tt § g v

(148) o 32
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110. Space according to Kant is

(1} an intuition (2] a concept

13} independent object (4) relation between objects
e & wgen fox

(1) &g (3) T |

(3) &8 99 : (4| gt ¥ = T==

111. Which one of the following gives necessary knowledge but not new knowledge according

to Kant?
{1) Analytic atatement (2) Synthetic statement
. {3} Synthetic a priori statement {4) Synthetic a posteriori statement
we & g Pofafee § & 99 ofeE e 3 ) e T owm o g
(1) Rrewmers s (2) HERNOTERE A
(3] O W e (4] OIS RYVERE T

112. The source of human knowledge according to Kant is

(1) divine reason (2) sensibility
(3} understanding (4) Both sensibility and understanding
¥ ¥ gur TE-TE W we d
. | 2 e
(3] =g (4) g0 o ehgly oA
33 P.T.0.)

{148}

L]
gcollegedunlae
India’s largest Student Review Platform

—



14Pf229/4

113. The a priori categories of understanding according to Kant can be used with regard to
the . .

(1) u-anapmdmtnnljr

(2) empitical only

13) Bath transcendent and empirical

141 Nﬁthertmnsnendmtnorm;pisiual i}

w2 % g wRfE % R @t o Wi Rk we R w47

(1} sveasfin & waea i

(2 ¥Ragefis % w4 |

(3) sgwantm wn fRagafte g9 % weg

(4) - 7 sgvEmii, T WS & we i
114. According to Kant

(1] things exist in a real space

(2] things can exisi without space

(3] space can be without things

(4] space mnnutbew:ithuut thinga

W % HYER | _
(1) =g wwofew R B E @) vl Ry % frm B TR £
{syﬁwagdf#ﬂmﬂ'mt | 4) fog gl % Pen 76 @ T
118, Thneamrdmgmx;mia |
1) real thing (2) property of real things
(3] category of understanding {4} form of senaibility
(148) - oM

L]
gcollegedunlae
India’s largest Student Review Platform

—



14P/229/4

wE ¥ SgEK T B
(1) Trfes T6g (2) AreaEE At W M
(3) whag A Wl (4) TiTH | AER

116. The number of the categories of understanding according to Kant is
w2 ¥ wgar whafy & =Ret & den @

(1) 12 2] 16 (3 8 4 20

117. Kant's philosophical method is

(1) mathematical (2} deductive
(3} inductive (4} transcendental
Fwe 6 s i 2

(1) nieftg (2) e (3) mnﬂl?ﬁiﬁ. (4) slguaﬁﬁn

118. Which one of the following is true according to Kant? _
llllla;owmjmcﬂaalm (2] I know things as they are
(3) I can think of myself @) T know only my ideas
W ¥ ogeR Feafafar § 4 @9 T8 7
1) ﬂmﬁaﬁmﬁm{ﬁﬂwﬁﬂ{
oy fagei s wm i ommd frm = dat
(3) & = ¥ at ¥ dm g £
(4) ¥ ¥am a1 wow W A §

(148) 35 (P.T.0,)
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119,

120.

131,

123.

(148)

Aamwdﬂu;ﬂrkannﬂwg:mmﬁmethﬁ:memﬂ:m[knawhd@efhnn

{1} underdtanding - @) sensibility

(3) reason (4 God

w0 % e ¥ € wh @ W

() wEEd @ R @ TR ¥ 4) e B
The source of transcendental illusion murdiﬁg to Kant is

(1) " sennibility (2] understanding

{3) reason (4] God

F2 % WEER Fgvarn 5w w wie &

(1) sz 2) =hafy @ R @ b
According Yo Kant things-in-themsslves can be

(1) knm- | [2) known and thought

(3) thought (4) Neither known nor thought
W ¥ e e - - |

(1) W w1 e ¥ (2 mmﬂ?mmt

(3) Wit o e ¥ . (4}:Mmqﬂ!.qmmwdi!

Self according to Kant is o
(1] a simple substance (2] a complex substance
3] a logical principle ) a paychological principle

36
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wZ ¥ HFER AN R =
(1) ot &= @) fm = (3] wiew (4) wAmhE 9

143. According to Kant

(1) cbject follows knowledge (2) knowledge follows object

{3} object is known as it is [4) knowledge knows the ideas of mind
07 & IIEH | |

{1} g W= ¥ FFEE F (2 W Eg = AqE

(3) g ¥ ¥ & ol ot & 4] W W F WS W AAW 2

124. Which one of the following believes that everything is based on ¢go?

(1) Descartes 2) Kant (3] Hegel (4] Fichte
frfiifr § @ = TAw ¥ 5 ™ 8 v «© e B
(1) (2) wwe (3) ¥ t4) fomme
128. | Which one of the following believes that nature is visible spirit and spirit isL invisible
nature? -
(1) Fichte (2) Schelling (3) Hegel (4} Kant
frfrfn % @ @ wm d B wER g R ¥ o Ry sew Tl RY
(1) for (2) #fder (3 #i= (4) #we
126. Absofute ia the “night in which all cows are black”. This is a criticism
(1) by Hegel against Schelling (2] by Hegel against Spinoza
(3) by Hegel against Kant (4) by Hegel against Fichte
(148) ' a7 P.1.0.)
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Py a3 “on iy & Rl ot od weelt €1 oe sreten B |
(1) e Ao ¥ B ) ied e F g

@) die A we ¥ Rz @) e R e ¥ g
127. Which one of the following maintains that contradiction is the root of ail life and
movement? ' | 3
(1) Plata {2) Kant 3] Hegel (4 Spinoza
Pefafm 3 & o9 wrer R T Ry wwa e @ iy & qw & R7
(1) = (2) wme - 13) Wi 4) B

138. Which one of the following is unconditionally good according to Kant? .

(1) Knowledee {2) Power {3) Wealth (4] Good will
w0z ¥ sEr P § @ o Benfm W @ v 42
(1) I (2) win | (3) mf (4] oM dweg
129, According to Kant, an act is good if it is done |
o (u"rmm self-love - (2} from inclination
3) from.respect for morel law | {4) from sympathy

FR % wun w1 wA qv &, Ry
1) sa-3m 8 fimn o &

(2} vfem Renm wm &
(3 Afes fram & wiy aee-vm & e &

(4) eyl @ fm am 2

(148) ‘ ag
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130. Which one of the following is not true according to Kant?
{1} Moral man is worthy of happiness
(2} Obedience to morality guarantees happiness
(3) Obedience to morality does not guarantee happiness
(4] The highest good can be realized only in the life to come
frferfom f @ 99 Fwe & oRER Wl T X7
(1) T3 ga A w e &
(2) 4w w1 UEA @ W SRS 3 2
(3) A w1 wEW g W A T R
(4) mater g s o F & ww @ wwm R

' 131, Good will according to Kant is

14P/229/4

(1) rational will  (2) divine wil (3) social will 14) emotional will

WIZ % FTAR YW HEA 2

(1) $gw vz (2) % www (3) WS BT (4) WISMTORR BT

132. Which one of the following is a gross egoistic hedonisi?

{1) Epicurus (2) Aristippus (3) Bentham 4) Mil

bresiien & & W 0 v T g A7

11) Fom (2) AffeE (3) wuH (4) fra

133. Superiority of a pleasure according 10 Bentham is judged on the ground of its

(1) quality (2) quantity

(3) Both quality and quantity (4) Neither guality nor gquantity

(148) 39
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hﬂ%a_ﬁamh:ﬁﬁuﬁm#ﬁ-hhmnﬁmmﬂm?
(y ™ (2) wer
@ I T w3 {4) 7, I =

134. What _acming to Bentham leads man from egoism to utilitarianism?

(1) Internal sanctions {2) Sense of human dignity
{3) Extemal sanctions : {4} Man’s rationality
M & FPER PR~ wRo 1w w@arE 4 siener & sk & w47
(1) TR sig @) W R W

(3). wm Aem (4) wgsq # ﬂﬁmﬁam_

135. Which ong of the following holds that the most highly evolved conduct yields the
greatest amount of happiness? -

(1} Benthnm (2) Mill {3) Eutlat (4] Spencer

Wﬁﬂﬁmt%ﬂhmmﬂhﬁummﬁmmﬁw

) @ P (3) weeR (4) ¥
136. Theeﬂﬁchlidealufperﬁncﬁnniaﬁ is ‘

(1) self-realization (2) God-realization

(3] performance of duty {4) happiness in future life

qiarns w1 Afe et &

i) S @ fa @ i

@) *d= e (4) st 3w A gw
(148) o w0
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137. The concept of ‘my station and its duties’ has been advocated by

(1} Hegel {2) Kant (3] Bradley (4) Butler
Ta T ouT JuE Felew H SEuTen @ e e e 27
(1] & (2] #m2 (3) #=d (4} TE

138. The principle of categorical imperative has been propounded by

(1) Mil (2] Hegel (3] Bradley (4) Kant
fenfes amm & frgee @ wioea ke Rem &7
(1} e (2 = (3) #wat (4) #m2

139. Which ane of thé following is the support of the other Ashramas?

- {l] Sanyasa (2} Vanaprastha {3) Brahmacarya (4] Grihastha
Prafftan if & oW s anmt w s 37
(1] = (2) AT (3} werwt (4] T

140, According to the Gita, the four Varnas have been created on the ground of
(1) Jati (2} Guna
(3) Guna and Karma (4] Karma
W % SFER SR FW f =W R AR R
() i (2) ™ (3) 7o v (4] =

(1431- ‘ 41 (P.T.0.)
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i41.

144.

143,

(148)

Rigsi Rina means

[1) performing sacrifice to please the Gods

[2) worshipping the forefathers _
{3} promoting the teachings and principlen of teachers
{4) to take Sanyass

N = W a1}

(1) . F=mat # sww w3 & fg on W

@) sl T W

(@) wsat B At am fgeel W oeR e
| (4) €T TEE W

The idea) of Bodhisattva has béen accepted in

(1) Mahayana Puddhiam . (@ Hinayans Buddhism

(3) Jainism | (4) All schools of Indian Philosophy
Wit = sl wiven fiem w4

(1) werm g 3 @) tmmAzE

(3) A7 miw # (@) vl gl % ol wod #

Which one of the following actions have been done in the past but have not started
yielding fruits? .

(1} Prarabdha (2} Sancita
{3) Kriyamana | | (4} Prarabdha and Sancita

42
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145,

146.

perfection?

14P/229/4

P i s ol f F A M £ g o v 3 o B B A7
(1) ‘W @) dfm @) Bemmo (4} wen v wh

Wch one of the following actions ::an be exhausted by reaping their fn?its'?
{1} Sancita (2] Kriyamana

(3} Sancita and Prarabdha (4] Prarabdha

Brrforitrs 3 @ R T W F wE F) i = e o T &6

}1}#&3. . (2) i (3] W@ ¥R Yesa  4) WTEW

Which one of the following does not accept the ideat of Jivanamukti?

(1) Adveita Vedanta + (2] Samkhya

3) Visistadvaita Vedanta 4 Gita

Prafafar 3§ ¥ 2w ¥ o W T FER wm?

(1) g (2] HIEA (3) Rfeds agm (4 o

Which one of the following arguments preves the existence of God from the idea of

W (3) Teleological (4} Moral
e & $e B T Rg wR AT

s (3 WeEs M) e
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Prfrites & % W% amen @ e feg w1 -RigE ® Tom 27
{1) =i 2 az @1 3= (4) iwian

148. Which one of the following belisves that devotion is the path of liberation?

(1] Advaita Vedanta | {2 Samkhya
(3] Mimamsa {4] Visistadvaita Vedanta
Frafafr & @ w4 aem ¢ & v Sy = awf 47
(1) ke dgen 2) W . {3) wiwian (4) fafiedn e
149. Which ane of the following ie 2 pantheist? |
(1) Deacartes (2) Spinoza {3) Leibnitz . (4 Hegel
Pafirflm & & W w47
(1) ¥ - {2) Tt (3) T@WRE (4) dm
180, ‘;:'al:;m;x onc of the following arguments for God's existence has not besn refuted by
i
(1) Moral (2} Cosmological (3] Teleclogy -c. al
| (4 Ontologi
(1) Afes (2) m 9 e t?
. B} Wi !
e - . f‘ﬂ iy S

&

.....

2Ty
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